

FINDING THE MINIMUM NORM COMMON ELEMENT OF MAXIMAL MONOTONE OPERATORS AND NONEXPANSIVE MAPPINGS WITHOUT INVOLVING PROJECTION

YONGHONG YAO, YEONG-CHENG LIOU, AND JEN-CHIH YAO*

ABSTRACT. The purpose of this paper is to construct two simple algorithms without involving projection for finding the minimum norm common solution of maximal monotone operators and nonexpansive mappings in Hilbert spaces. Some applications are also included.

1. INTRODUCTION

In many problems, it is needed to find a solution with minimum norm. A typical example is the least-squares solution to the constrained linear inverse problem [25]

$$\begin{cases} Ax = b, \\ x \in C, \end{cases}$$

where A is a bounded linear operator from H to another real Hilbert space H_1 and b is a given point in H_1 . Some related works on the minimum norm solution problems (or least squares problem), please refer to [8, 9, 12, 13, 15, 19–21, 23, 31, 32, 34–37]. We note that we may formulate such problems in an abstract way as finding a point $x^\dagger \in \Omega$ with the property

$$\|x^\dagger\| = \min_{x \in \Omega} \|x\|.$$

In another word, x^\dagger is the (nearest point or metric) projection of the origin onto Ω ,

$$x^\dagger = P_\Omega(0),$$

where P_Ω is the metric (or nearest point) projection from H onto Ω . This indicates that we can use projection to find the minimum norm solution. In this respect, very recently, some authors use projection algorithms that employ projections onto the set C , in order to iteratively reach the minimum norm solution of some nonlinear operators, see., e.g., [8, 21, 31, 32, 34–37].

Projection methods are used extensively in a variety of methods in optimization theory. Apart from theoretical interest, the main advantage of projection methods, which makes them successful in real-world applications, is computational. The field

2010 *Mathematics Subject Classification.* 49J40, 47J20, 47H09, 65J15.

Key words and phrases. Maximal monotone operator, nonexpansive mapping, zero point, fixed point, resolvent, minimum-norm.

*Corresponding author.

Yeong-Cheng Liou was supported in part by a grant from MOST NSC 101-2628-E-230-001-MY3 and NSC 103-2923-E-037-001-MY3. This research is supported partially by Kaohsiung Medical University Aim for the Top Universities Grant, grant No. KMU-TP103F00. Jen-Chih Yao was partially supported by the Grant MOST 103-2923-E-039-001-MY3.

of projection methods is vast and we mention here only a few recent works that can give the reader some good starting points. Such a list includes, among many others, the works of [2, 5, 11, 16–18], the connection with variational inequalities, see, e.g., Solodov and Svaiter [26], Censor, Gibali and Reich [6], Noor [22], Yamada [33] which is motivated by real-world problems of signal processing, and the many contributions of Bauschke and Combettes, see, e.g., Bauschke, Combettes and Kruk [3]. We observe that in each iteration of the projection algorithm, in order to get the next iterative x_{n+1} , projection onto C is calculated, according to the iterative step. If the set C is simple enough, so that the projection onto it is easily executed, then this method is particularly useful; but, if C is a general closed and convex set, then a minimal distance problem has to be solved in order to obtain the next iterative. This might seriously affect the efficiency of the method. It remains however a challenge how to implement the projection algorithm in the case where the projection P_C fails to have closed-form expressions. Hence, it is an very interesting work of finding the minimum norm solution without involving projection.

The purpose of this paper is to construct two algorithms without using projection for finding the minimum norm common solution of maximal monotone operators and nonexpansive mappings in Hilbert spaces. Our work is mainly based on a recent work of Takahashi, Takahashi and Toyoda [28]. They proved the following convergence result

Theorem 1.1. *Let C be a closed and convex subset of a real Hilbert space H . Let A be an α -inverse strongly-monotone mapping of C into H and let B be a maximal monotone operator on H , such that the domain of B is included in C . Let $J_\lambda^B = (I + \lambda B)^{-1}$ be the resolvent of B for $\lambda > 0$ and let S be a nonexpansive mapping of C into itself, such that $F(S) \cap (A + B)^{-1}0 \neq \emptyset$. Let $x_1 = x \in C$ and let $\{x_n\} \subset C$ be a sequence generated by*

$$(1.1) \quad x_{n+1} = \beta_n x_n + (1 - \beta_n)S(\alpha_n x + (1 - \alpha_n)J_{\lambda_n}^B(x_n - \lambda_n A x_n))$$

for all $n \geq 0$, where $\{\lambda_n\} \subset (0, 2\alpha)$, $\{\alpha_n\} \subset (0, 1)$ and $\{\beta_n\} \subset (0, 1)$ satisfy

$$0 < a \leq \lambda_n \leq b < 2\alpha, \quad 0 < c \leq \beta_n \leq d < 1,$$

$$\lim_{n \rightarrow \infty} (\lambda_{n+1} - \lambda_n) = 0, \quad \lim_{n \rightarrow \infty} \alpha_n = 0 \text{ and } \sum_n \alpha_n = \infty.$$

Then $\{x_n\}$ converges strongly to a point of $F(S) \cap (A + B)^{-1}0$.

Remark 1.2. We notice that the above method (1.1) does find the minimum-norm element in $F(S) \cap (A + B)^{-1}0$ if $0 \in C$. However, if $0 \notin C$, then this algorithm (1.1) does not work to find the minimum-norm element. The reason is simple: If $0 \notin C$, we cannot take $x = 0$ since $(1 - \alpha_n)J_{\lambda_n}^B(x_n - \lambda_n A x_n)$ may not belong to C and consequently, x_{n+1} may be undefined. A natural idea is we can choose the initial point x in the whole space. Then we have to employ projection such that $P_C[\alpha_n x + (1 - \alpha_n)J_{\lambda_n}^B(x_n - \lambda_n A x_n)] \in C$. Thus, we can construct algorithm $x_{n+1} = \beta_n x_n + (1 - \beta_n)S P_C[\alpha_n x + (1 - \alpha_n)J_{\lambda_n}^B(x_n - \lambda_n A x_n)]$ to find the minimum-norm element. This is an active topic. But this is not our main purpose in the present paper due to this algorithm involves the computation of the projection.

Remark 1.3. We also note that in Theorem 1.1, the authors added an additional assumption: the domain of B is included in C (The reader can refer to Lemma 4.3 in the last section for a possible example which satisfies this assumption). This assumption is indeed not restrict in order to guarantee $J_{\lambda_n}^B(x_n - \lambda_n Ax_n) \in C$. Based on this fact, in the present paper we construct two simple algorithms with strong convergence to the minimum-norm element.

Remark 1.4. From the listed references, there exist a large number of problems which need to find the minimum norm solution. A useful path to circumvent this problem is to use projection. Bauschke and Browein [2] and Censor and Zenios [7] provide reviews of the field. The main difficult is in computation. We note that the algorithm (1.1) can not use to find the minimum norm element.

Motivated and inspired by the works in this field, we first suggest the following two algorithms without using projection:

$$x_t = SJ_{\lambda}^B((1-t)x_t - \lambda Ax_t), t \in (0, 1)$$

and

$$x_{n+1} = \beta_n x_n + (1 - \beta_n) SJ_{\lambda_n}^B((1 - \alpha_n)x_n - \lambda_n Ax_n), n \geq 0.$$

(Notice that these two algorithms are indeed well-defined (see the next section).) We will show the suggested algorithms converge strongly to a common point $\tilde{x} = P_{F(S) \cap (A+B)^{-1}0}(0)$ which is the minimum-norm element of $F(S) \cap (A+B)^{-1}0$. Some applications are also included.

2. PRELIMINARIES

Let H be a real Hilbert space with inner product $\langle \cdot, \cdot \rangle$ and norm $\|\cdot\|$, respectively. Let C be a nonempty closed convex subset of H . Recall that a mapping $S : C \rightarrow C$ is said to be nonexpansive if $\|Sx - Sy\| \leq \|x - y\|$ for all $x, y \in C$. We denote by $F(S)$ the set of fixed points of S . A mapping $A : C \rightarrow H$ is said to be α -inverse strongly-monotone iff $\langle Ax - Ay, x - y \rangle \geq \alpha \|Ax - Ay\|^2$ for some $\alpha > 0$ and for all $x, y \in C$. It is known that if A is α -inverse strongly-monotone, then $\|Ax - Ay\| \leq 1/\alpha \|x - y\|$ for all $x, y \in C$.

Let B be a mapping of H into 2^H . The effective domain of B is denoted by $dom(B)$, that is, $dom(B) = \{x \in H : Bx \neq \emptyset\}$. A multi-valued mapping B is said to be a monotone operator on H iff $\langle x - y, u - v \rangle \geq 0$ for all $x, y \in dom(B)$, $u \in Bx$, and $v \in By$. A monotone operator B on H is said to be maximal iff its graph is not strictly contained in the graph of any other monotone operator on H . Let B be a maximal monotone operator on H and let $B^{-1}0 = \{x \in H : 0 \in Bx\}$.

For a maximal monotone operator B on H and $\lambda > 0$, we may define a single-valued operator $J_{\lambda}^B = (I + \lambda B)^{-1} : H \rightarrow dom(B)$, which is called the resolvent of B for λ . It is known that the resolvent J_{λ}^B is firmly nonexpansive, i.e., $\|J_{\lambda}^B x - J_{\lambda}^B y\|^2 \leq \langle J_{\lambda}^B x - J_{\lambda}^B y, x - y \rangle$ for all $x, y \in C$ and $B^{-1}0 = F(J_{\lambda}^B)$ for all $\lambda > 0$.

The following resolvent identity is well-known: for $\lambda > 0$ and $\mu > 0$, there holds the identity

$$(2.1) \quad J_\lambda^B x = J_\mu^B \left(\frac{\mu}{\lambda} x + \left(1 - \frac{\mu}{\lambda}\right) J_\lambda^B x \right), x \in H.$$

We use the following notation:

- $x_n \rightharpoonup x$ stands for the weak convergence of (x_n) to x ;
- $x_n \rightarrow x$ stands for the strong convergence of (x_n) to x .

We need the following lemmas for the next section.

Lemma 2.1 ([35]). *Let C be a nonempty closed convex subset of a real Hilbert space H . Let the mapping $A : C \rightarrow H$ be α -inverse strongly monotone and $\lambda > 0$ be a constant. Then, we have*

$$\|(I - \lambda A)x - (I - \lambda A)y\|^2 \leq \|x - y\|^2 + \lambda(\lambda - 2\alpha)\|Ax - Ay\|^2, \forall x, y \in C.$$

In particular, if $0 \leq \lambda \leq 2\alpha$, then $I - \lambda A$ is nonexpansive.

Lemma 2.2 ([21]). *Let C be a closed convex subset of a Hilbert space H . Let $S : C \rightarrow C$ be a nonexpansive mapping. Then $F(S)$ is a closed convex subset of C and the mapping $I - S$ is demiclosed at 0, i.e. whenever $\{x_n\} \subset C$ is such that $x_n \rightharpoonup x$ and $(I - S)x_n \rightarrow 0$, then $(I - S)x = 0$.*

Lemma 2.3 ([36]). *Let $\{x_n\}$ and $\{y_n\}$ be bounded sequences in a Banach space X and let $\{\beta_n\}$ be a sequence in $[0, 1]$ with $0 < \liminf_{n \rightarrow \infty} \beta_n \leq \limsup_{n \rightarrow \infty} \beta_n < 1$. Suppose $x_{n+1} = (1 - \beta_n)y_n + \beta_n x_n$ for all $n \geq 0$ and $\limsup_{n \rightarrow \infty} (\|y_{n+1} - y_n\| - \|x_{n+1} - x_n\|) \leq 0$. Then, $\lim_{n \rightarrow \infty} \|y_n - x_n\| = 0$.*

Lemma 2.4 ([14]). *Assume $\{a_n\}$ is a sequence of nonnegative real numbers such that*

$$a_{n+1} \leq (1 - \gamma_n)a_n + \delta_n \gamma_n,$$

where $\{\gamma_n\}$ is a sequence in $(0, 1)$ and $\{\delta_n\}$ is a sequence such that

- (1) $\sum_{n=1}^\infty \gamma_n = \infty$;
- (2) $\limsup_{n \rightarrow \infty} \delta_n \leq 0$ or $\sum_{n=1}^\infty |\delta_n \gamma_n| < \infty$.

Then $\lim_{n \rightarrow \infty} a_n = 0$.

3. MAIN RESULTS

In this section, we will prove our main results.

Theorem 3.1. *Let C be a closed and convex subset of a real Hilbert space H . Let A be an α -inverse strongly-monotone mapping of C into H and let B be a maximal monotone operator on H , such that the domain of B is included in C . Let $J_\lambda^B = (I + \lambda B)^{-1}$ be the resolvent of B for $\lambda > 0$ and let S be a nonexpansive mapping of C into itself, such that $F(S) \cap (A + B)^{-1}0 \neq \emptyset$. Let λ be a constant satisfying $a \leq \lambda \leq b$ where $[a, b] \subset (0, 2\alpha)$. For $t \in (0, 1 - \frac{\lambda}{2\alpha})$, let $\{x_t\} \subset C$ be a net generated by*

$$(3.1) \quad x_t = S J_\lambda^B \left((1 - t)x_t - \lambda A x_t \right).$$

Then the net $\{x_t\}$ converges strongly, as $t \rightarrow 0+$, to a point $\tilde{x} = P_{F(S) \cap (A+B)^{-1}0}(0)$ which is the minimum norm element in $F(S) \cap (A+B)^{-1}0$.

Proof. First, we show the net $\{x_t\}$ is well-defined. For any $t \in (0, 1 - \frac{\lambda}{2\alpha})$, we define a mapping $T := SJ_\lambda^B \left((1-t)I - \lambda A \right)$. Note that S , J_λ^B and $I - \frac{\lambda}{1-t}A$ (see Lemma 2.1) are nonexpansive. For any $x, y \in C$, we have

$$\begin{aligned} \|Tx - Ty\| &= \left\| SJ_\lambda^B \left((1-t)x - \lambda Ax \right) - SJ_\lambda^B \left((1-t)y - \lambda Ay \right) \right\| \\ &\leq \left\| (1-t) \left(x - \frac{\lambda}{1-t} Ax \right) - (1-t) \left(y - \frac{\lambda}{1-t} Ay \right) \right\| \\ &\leq (1-t) \|x - y\|, \end{aligned}$$

which implies the mapping T is a contraction on C . We use x_t to denote the unique fixed point of T in C . Therefore, $\{x_t\}$ is well-defined.

Take any $z \in F(S) \cap (A+B)^{-1}0$. It is obvious that $z = J_\lambda^B(z - \lambda Az)$ for all $\lambda > 0$. So, we have $z = J_\lambda^B(z - \lambda Az) = J_\lambda^B \left(tz + (1-t)(z - \lambda Az/(1-t)) \right)$ for all $t \in (0, 1)$. Since J_λ^B is nonexpansive for all $\lambda > 0$, we have

$$\begin{aligned} &\left\| J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) - z \right\|^2 \\ &= \left\| J_\lambda^B \left((1-t)(x_t - \lambda Ax_t/(1-t)) \right) - J_\lambda^B \left(tz + (1-t)(z - \lambda Az/(1-t)) \right) \right\|^2 \\ &\leq \left\| \left((1-t)(x_t - \lambda Ax_t/(1-t)) \right) - \left(tz + (1-t)(z - \lambda Az/(1-t)) \right) \right\|^2 \\ (3.2) \quad &= \left\| (1-t) \left((x_t - \lambda Ax_t/(1-t)) - (z - \lambda Az/(1-t)) \right) + t(-z) \right\|^2. \end{aligned}$$

By using the convexity of $\|\cdot\|$ and the α -inverse strong monotonicity of A , we derive

$$\begin{aligned} &\left\| (1-t) \left((x_t - \lambda Ax_t/(1-t)) - (z - \lambda Az/(1-t)) \right) + t(-z) \right\|^2 \\ &\leq (1-t) \left\| (x_t - \lambda Ax_t/(1-t)) - (z - \lambda Az/(1-t)) \right\|^2 + t \|z\|^2 \\ &= (1-t) \left\| (x_t - z) - \lambda (Ax_t - Az)/(1-t) \right\|^2 + t \|z\|^2 \\ &= (1-t) \left(\|x_t - z\|^2 - \frac{2\lambda}{1-t} \langle Ax_t - Az, x_t - z \rangle + \frac{\lambda^2}{(1-t)^2} \|Ax_t - Az\|^2 \right) \\ &\quad + t \|z\|^2 \\ &\leq (1-t) \left(\|x_t - z\|^2 - \frac{2\alpha\lambda}{1-t} \|Ax_t - Az\|^2 + \frac{\lambda^2}{(1-t)^2} \|Ax_t - Az\|^2 \right) + t \|z\|^2 \\ (3.3) \quad &= (1-t) \left(\|x_t - z\|^2 + \frac{\lambda}{(1-t)^2} (\lambda - 2(1-t)\alpha) \|Ax_t - Az\|^2 \right) + t \|z\|^2. \end{aligned}$$

By the assumption, we have $\lambda - 2(1-t)\alpha \leq 0$ for all $t \in (0, 1 - \frac{\lambda}{2\alpha})$. Then, from (3.2) and (3.3), we obtain

$$\left\| J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) - z \right\|^2$$

$$\begin{aligned}
(3.4) \quad &\leq (1-t) \left(\|x_t - z\|^2 + \frac{\lambda}{(1-t)^2} (\lambda - 2(1-t)\alpha) \|Ax_t - Az\|^2 \right) + t\|z\|^2 \\
&\leq (1-t) \|x_t - z\|^2 + t\|z\|^2.
\end{aligned}$$

It follows from (3.1) and (3.4) that

$$\begin{aligned}
(3.5) \quad &\|x_t - z\|^2 \leq \|J_\lambda^B((1-t)x_t - \lambda Ax_t) - z\|^2 \\
&\leq (1-t) \|x_t - z\|^2 + t\|z\|^2.
\end{aligned}$$

It follows that

$$\|x_t - z\| \leq \|z\|.$$

Therefore, $\{x_t\}$ is bounded. Since A is α -inverse strongly monotone, it is $\frac{1}{\alpha}$ -Lipschitz continuous. We deduce immediately that $\{Ax_t\}$ is also bounded.

By (3.4) and (3.5), we obtain

$$\|x_t - z\|^2 \leq (1-t) \|x_t - z\|^2 + \frac{\lambda}{(1-t)} (\lambda - 2(1-t)\alpha) \|Ax_t - Az\|^2 + t\|z\|^2.$$

So,

$$\frac{\lambda}{(1-t)} (2(1-t)\alpha - \lambda) \|Ax_t - Az\|^2 \leq t\|z\|^2 - t\|x_t - z\|^2 \rightarrow 0.$$

This implies that

$$(3.6) \quad \lim_{t \rightarrow 0^+} \|Ax_t - Az\| = 0.$$

Next, we show $\|x_t - Sx_t\| \rightarrow 0$. By using the firm nonexpansivity of J_λ^B , we have

$$\begin{aligned}
&\left\| J_\lambda^B((1-t)x_t - \lambda Ax_t) - z \right\|^2 \\
&= \left\| J_\lambda^B((1-t)x_t - \lambda Ax_t) - J_\lambda^B(z - \lambda Az) \right\|^2 \\
&\leq \left\langle (1-t)x_t - \lambda Ax_t - (z - \lambda Az), J_\lambda^B((1-t)x_t - \lambda Ax_t) - z \right\rangle \\
&= \frac{1}{2} \left(\|(1-t)x_t - \lambda Ax_t - (z - \lambda Az)\|^2 + \left\| J_\lambda^B((1-t)x_t - \lambda Ax_t) - z \right\|^2 \right. \\
&\quad \left. - \left\| (1-t)x_t - \lambda(Ax_t - \lambda Az) - J_\lambda^B((1-t)x_t - \lambda Ax_t) \right\|^2 \right).
\end{aligned}$$

By the nonexpansivity of $I - \lambda A/(1-t)$, we have

$$\begin{aligned}
&\|(1-t)x_t - \lambda Ax_t - (z - \lambda Az)\|^2 \\
&= \|(1-t)((x_t - \lambda Ax_t)/(1-t) - (z - \lambda Az)/(1-t)) + t(-z)\|^2 \\
&\leq (1-t) \|(x_t - \lambda Ax_t)/(1-t) - (z - \lambda Az)/(1-t)\|^2 + t\|z\|^2 \\
&\leq (1-t) \|x_t - z\|^2 + t\|z\|^2.
\end{aligned}$$

Thus,

$$\begin{aligned}
&\left\| J_\lambda^B((1-t)x_t - \lambda Ax_t) - z \right\|^2 \\
&\leq \frac{1}{2} \left((1-t) \|x_t - z\|^2 + t\|z\|^2 + \left\| J_\lambda^B((1-t)x_t - \lambda Ax_t) - z \right\|^2 \right)
\end{aligned}$$

$$-\left\| (1-t)x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) - \lambda (Ax_t - Az) \right\|^2.$$

That is,

$$\begin{aligned} & \left\| J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) - z \right\|^2 \\ \leq & (1-t)\|x_t - z\|^2 + t\|z\|^2 \\ & - \left\| (1-t)x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) - \lambda (Ax_t - Az) \right\|^2 \\ = & (1-t)\|x_t - z\|^2 + t\|z\|^2 - \left\| (1-t)x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) \right\|^2 \\ & + 2\lambda \left\langle (1-t)x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right), Ax_t - Az \right\rangle - \lambda^2 \|Ax_t - Az\|^2 \\ \leq & (1-t)\|x_t - z\|^2 + t\|z\|^2 - \left\| (1-t)x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) \right\|^2 \\ & + 2\lambda \left\| (1-t)x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) \right\| \|Ax_t - Az\|. \end{aligned}$$

This together with (3.5) imply that

$$\begin{aligned} \|x_t - z\|^2 & \leq \left\| J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) - z \right\|^2 \\ & \leq (1-t)\|x_t - z\|^2 + t\|z\|^2 - \left\| (1-t)x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) \right\|^2 \\ & \quad + 2\lambda \left\| (1-t)x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) \right\| \|Ax_t - Az\|. \end{aligned}$$

Hence,

$$\begin{aligned} & \left\| (1-t)x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) \right\|^2 \\ \leq & t\|z\|^2 + 2\lambda \left\| (1-t)x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) \right\| \|Ax_t - Az\|. \end{aligned}$$

Since $\|Ax_t - Az\| \rightarrow 0$, we deduce

$$\lim_{t \rightarrow 0^+} \left\| (1-t)x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) \right\| = 0.$$

Therefore,

$$(3.7) \quad \lim_{t \rightarrow 0^+} \left\| x_t - J_\lambda^B \left((1-t)x_t - \lambda Ax_t \right) \right\| = 0.$$

From (3.1) and (3.2), we have

$$\begin{aligned} \|x_t - z\|^2 & \leq \left\| (1-t) \left(x_t - \frac{\lambda}{1-t} Ax_t \right) - \left(z - \frac{\lambda}{1-t} Az \right) - tz \right\|^2 \\ & = (1-t)^2 \left\| x_t - \frac{\lambda}{1-t} Ax_t - \left(z - \frac{\lambda}{1-t} Az \right) \right\|^2 \\ & \quad - 2t(1-t) \left\langle z, x_t - \frac{\lambda}{1-t} Ax_t - \left(z - \frac{\lambda}{1-t} Az \right) \right\rangle + t^2 \|z\|^2 \\ & \leq (1-t)^2 \|x_t - z\|^2 - 2t(1-t) \left\langle z, x_t - \frac{\lambda}{1-t} (Ax_t - Az) - z \right\rangle + t^2 \|z\|^2 \end{aligned}$$

$$= (1 - 2t)\|x_t - z\|^2 + 2t\left\{ - (1 - t)\left\langle z, x_t - \frac{\lambda}{1 - t}(Ax_t - Az) - z \right\rangle + t^2(\|z\|^2 + \|x_t - z\|^2) \right\}.$$

It follows that

$$\begin{aligned} \|x_t - z\|^2 &\leq -\left\langle z, x_t - \frac{\lambda}{1 - t}(Ax_t - Az) - z \right\rangle + \frac{t}{2}(\|z\|^2 + \|x_t - z\|^2) \\ &\quad + t\|z\|\left\| x_t - \frac{\lambda}{1 - t}(Ax_t - Az) - z \right\| \\ (3.8) \quad &\leq -\left\langle z, x_t - \frac{\lambda}{1 - t}(Ax_t - Az) - z \right\rangle + tM, \end{aligned}$$

where M is some constant such that

$$\sup \left\{ \|z\|^2 + \|x_t - z\|^2 + \|z\|\left\| x_t - \frac{\lambda}{1 - t}(Ax_t - Az) - z \right\|, t \in (0, 1 - \frac{\lambda}{2\alpha}) \right\} \leq M.$$

Next we show that $\{x_t\}$ is relatively norm-compact as $t \rightarrow 0+$. Assume $\{t_n\} \subset (0, 1 - \frac{\lambda}{2\alpha})$ is such that $t_n \rightarrow 0+$ as $n \rightarrow \infty$. Put $x_n := x_{t_n}$. From (3.8), we have

$$\begin{aligned} \|x_n - z\|^2 &\leq -\left\langle z, x_n - \frac{\lambda}{1 - t_n}(Ax_n - Az) - z \right\rangle \\ (3.9) \quad &\quad + t_n M, \quad z \in F(S) \cap (A + B)^{-1}0. \end{aligned}$$

Since $\{x_n\}$ is bounded, without loss of generality, we may assume that $x_n \rightarrow \tilde{x} \in C$. Hence, $x_n - \frac{\lambda}{1 - t_n}(Ax_n - Az) \rightarrow \tilde{x}$ because of $\|Ax_n - Az\| \rightarrow 0$. From (3.7), we have $\lim_{t \rightarrow 0+} \|x_t - Sx_t\| = 0$. Thus,

$$(3.10) \quad \lim_{n \rightarrow \infty} \|x_n - Sx_n\| = 0.$$

We can use Lemma 2.2 to (3.10) to deduce $\tilde{x} \in F(S)$. Further, we show that \tilde{x} is also in $(A + B)^{-1}0$. Let $v \in Bu$. Set $z_n = J_\lambda^B((1 - t_n)x_n - \lambda Ax_n)$ for all n . Then, we have

$$(1 - t_n)x_n - \lambda Ax_n \in (I + \lambda B)z_n \Rightarrow \frac{1 - t_n}{\lambda}x_n - Ax_n - \frac{z_n}{\lambda} \in Bz_n.$$

Since B is monotone, we have, for $(u, v) \in B$,

$$\begin{aligned} &\left\langle \frac{1 - t_n}{\lambda}x_n - Ax_n - \frac{z_n}{\lambda} - v, z_n - u \right\rangle \geq 0 \\ \Rightarrow &\langle (1 - t_n)x_n - \lambda Ax_n - z_n - \lambda v, z_n - u \rangle \geq 0 \\ \Rightarrow &\langle Ax_n + v, z_n - u \rangle \leq \frac{1}{\lambda}\langle x_n - z_n, z_n - u \rangle - \frac{t_n}{\lambda}\langle x_n, z_n - u \rangle \\ \Rightarrow &\langle A\tilde{x} + v, z_n - u \rangle \leq \frac{1}{\lambda}\langle x_n - z_n, z_n - u \rangle - \frac{t_n}{\lambda}\langle x_n, z_n - u \rangle + \langle A\tilde{x} - Ax_n, z_n - u \rangle \\ \Rightarrow &\langle A\tilde{x} + v, z_n - u \rangle \leq \frac{1}{\lambda}\|x_n - z_n\|\|z_n - u\| + \frac{t_n}{\lambda}\|x_n\|\|z_n - u\| \\ &\quad + \|A\tilde{x} - Ax_n\|\|z_n - u\|. \end{aligned}$$

It follows that

$$\langle A\tilde{x} + v, \tilde{x} - u \rangle \leq \frac{1}{\lambda}\|x_n - z_n\|\|z_n - u\| + \frac{t_n}{\lambda}\|x_n\|\|z_n - u\|$$

$$(3.11) \quad +\|A\tilde{x} - Ax_n\|\|z_n - u\| + \langle A\tilde{x} + v, \tilde{x} - z_n \rangle.$$

Since

$$\langle x_n - \tilde{x}, Ax_n - A\tilde{x} \rangle \geq \alpha \|Ax_n - A\tilde{x}\|^2,$$

$Ax_n \rightarrow Az$ and $x_n \rightarrow \tilde{x}$, we have $Ax_n \rightarrow A\tilde{x}$. We also observe that $t_n \rightarrow 0$, $\|x_n - z_n\| \rightarrow 0$ (by (3.7)) and $z_n \rightarrow \tilde{x}$. Then, from (3.11), we derive

$$\langle -A\tilde{x} - v, \tilde{x} - u \rangle \geq 0.$$

Since B is maximal monotone, we have $-A\tilde{x} \in B\tilde{x}$. This shows that $0 \in (A + B)\tilde{x}$. Hence, we have $\tilde{x} \in F(S) \cap (A + B)^{-1}0$. Therefore we can substitute \tilde{x} for z in (3.9) to get

$$\|x_n - \tilde{x}\|^2 \leq -\left\langle \tilde{x}, x_n - \frac{\lambda}{1 - t_n}(Ax_n - A\tilde{x}) - \tilde{x} \right\rangle + t_n M.$$

Consequently, the weak convergence of $\{x_n\}$ to \tilde{x} actually implies that $x_n \rightarrow \tilde{x}$. This has proved the relative norm-compactness of the net $\{x_t\}$ as $t \rightarrow 0+$.

Now we return to (3.9) and take the limit as $n \rightarrow \infty$ to get

$$\|\tilde{x} - z\|^2 \leq -\langle z, \tilde{x} - z \rangle, \quad z \in F(S) \cap (A + B)^{-1}0.$$

Equivalently,

$$\|\tilde{x}\|^2 \leq \langle \tilde{x}, z \rangle, \quad z \in F(S) \cap (A + B)^{-1}0.$$

This clearly implies that

$$\|\tilde{x}\| \leq \|z\|, \quad z \in F(S) \cap (A + B)^{-1}0.$$

Therefore, \tilde{x} is the minimum-norm element in $F(S) \cap (A + B)^{-1}0$. This completes the proof. \square

Theorem 3.2. *Let C be a closed and convex subset of a real Hilbert space H . Let A be an α -inverse strongly-monotone mapping of C into H and let B be a maximal monotone operator on H , such that the domain of B is included in C . Let $J_\lambda^B = (I + \lambda B)^{-1}$ be the resolvent of B for $\lambda > 0$ and let S be a nonexpansive mapping of C into itself, such that $F(S) \cap (A + B)^{-1}0 \neq \emptyset$. For given $x_0 \in C$, let $\{x_n\} \subset C$ be a sequence generated by*

$$(3.12) \quad x_{n+1} = \beta_n x_n + (1 - \beta_n) S J_{\lambda_n}^B \left((1 - \alpha_n) x_n - \lambda_n A x_n \right)$$

for all $n \geq 0$, where $\{\lambda_n\} \subset (0, 2\alpha)$, $\{\alpha_n\} \subset (0, 1)$ and $\{\beta_n\} \subset (0, 1)$ satisfy

- (i) $\lim_{n \rightarrow \infty} \alpha_n = 0$ and $\sum_n \alpha_n = \infty$;
- (ii) $0 < \liminf_{n \rightarrow \infty} \beta_n \leq \limsup_{n \rightarrow \infty} \beta_n < 1$;
- (iii) $a(1 - \alpha_n) \leq \lambda_n \leq b(1 - \alpha_n)$ where $[a, b] \subset (0, 2\alpha)$ and $\lim_{n \rightarrow \infty} (\lambda_{n+1} - \lambda_n) = 0$.

Then $\{x_n\}$ generated by (3.12) converges strongly to a point $\tilde{x} = P_{F(S) \cap (A+B)^{-1}0}(0)$ which is the minimum norm element in $F(S) \cap (A + B)^{-1}0$.

Proof. Pick up $z \in F(S) \cap (A + B)^{-1}0$. It is obvious that $z = J_{\lambda_n}^B(z - \lambda_n Az) = J_{\lambda_n}^B \left(\alpha_n z + (1 - \alpha_n)(z - \lambda_n Az / (1 - \alpha_n)) \right)$ for all $n \geq 0$. Since J_λ^B is nonexpansive for all $\lambda > 0$, we have

$$\left\| J_{\lambda_n}^B \left((1 - \alpha_n) x_n - \lambda_n A x_n \right) - z \right\|^2$$

$$\begin{aligned}
&= \left\| J_{\lambda_n}^B \left((1 - \alpha_n)(x_n - \lambda_n Ax_n / (1 - \alpha_n)) \right) \right. \\
&\quad \left. - J_{\lambda_n}^B \left(\alpha_n z + (1 - \alpha_n)(z - \lambda_n Az / (1 - \alpha_n)) \right) \right\|^2 \\
&\leq \left\| \left((1 - \alpha_n)(x_n - \lambda_n Ax_n / (1 - \alpha_n)) \right) \text{notag} \right. \\
&\quad \left. - \left(\alpha_n z + (1 - \alpha_n)(z - \lambda_n Az / (1 - \alpha_n)) \right) \right\|^2 \\
(3.13) \quad &= \left\| (1 - \alpha_n) \left((x_n - \lambda_n Ax_n / (1 - \alpha_n)) - (z - \lambda_n Az / (1 - \alpha_n)) \right) + \alpha_n(-z) \right\|^2.
\end{aligned}$$

By using the convexity of $\|\cdot\|$ and the α -inverse strong monotonicity of A , we derive

$$\begin{aligned}
&\left\| (1 - \alpha_n) \left((x_n - \lambda_n Ax_n / (1 - \alpha_n)) - (z - \lambda_n Az / (1 - \alpha_n)) \right) + \alpha_n(-z) \right\|^2 \\
&\leq (1 - \alpha_n) \left\| (x_n - \lambda_n Ax_n / (1 - \alpha_n)) - (z - \lambda_n Az / (1 - \alpha_n)) \right\|^2 + \alpha_n \|z\|^2 \\
&= (1 - \alpha_n) \left\| (x_n - z) - \lambda_n (Ax_n - Az) / (1 - \alpha_n) \right\|^2 + \alpha_n \|z\|^2 \\
&= (1 - \alpha_n) \left(\|x_n - z\|^2 - \frac{2\lambda_n}{1 - \alpha_n} \langle Ax_n - Az, x_n - z \rangle + \frac{\lambda_n^2}{(1 - \alpha_n)^2} \|Ax_n - Az\|^2 \right) \\
&\quad + \alpha_n \|z\|^2 \\
&\leq (1 - \alpha_n) \left(\|x_n - z\|^2 - \frac{2\alpha\lambda_n}{1 - \alpha_n} \|Ax_n - Az\|^2 + \frac{\lambda_n^2}{(1 - \alpha_n)^2} \|Ax_n - Az\|^2 \right) \\
&\quad + \alpha_n \|z\|^2 \\
&= (1 - \alpha_n) \left(\|x_n - z\|^2 + \frac{\lambda_n}{(1 - \alpha_n)^2} (\lambda_n - 2(1 - \alpha_n)\alpha) \|Ax_n - Az\|^2 \right) \\
(3.14) \quad &+ \alpha_n \|z\|^2.
\end{aligned}$$

By condition (iii), we get $\lambda_n - 2(1 - \alpha_n)\alpha \leq 0$ for all $n \geq 0$. Then, from (3.13) and (3.14), we obtain

$$\begin{aligned}
&\left\| J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - z \right\|^2 \\
&\leq (1 - \alpha_n) \left(\|x_n - z\|^2 + \frac{\lambda_n}{(1 - \alpha_n)^2} (\lambda_n - 2(1 - \alpha_n)\alpha) \|Ax_n - Az\|^2 \right) \\
(3.15) \quad &+ \alpha_n \|z\|^2 \\
&\leq (1 - \alpha_n) \|x_n - z\|^2 + \alpha_n \|z\|^2.
\end{aligned}$$

It follows from (3.12) and (3.15) that

$$\begin{aligned}
\|x_{n+1} - z\|^2 &= \left\| \beta_n(x_n - z) + (1 - \beta_n) \left(S J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - z \right) \right\|^2 \\
&\leq \beta_n \|x_n - z\|^2 + (1 - \beta_n) \left\| S J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - z \right\|^2 \\
(3.16) \quad &\leq \beta_n \|x_n - z\|^2 + (1 - \beta_n) \left\| J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - z \right\|^2 \\
&\leq \beta_n \|x_n - z\|^2 + (1 - \beta_n) ((1 - \alpha_n) \|x_n - z\|^2 + \alpha_n \|z\|^2)
\end{aligned}$$

$$\begin{aligned}
 &= [1 - (1 - \beta_n)\alpha_n]\|x_n - z\|^2 + (1 - \beta_n)\alpha_n\|z\|^2 \\
 &\leq \max\{\|x_n - z\|^2, \|z\|^2\}.
 \end{aligned}$$

By induction, we have

$$\|x_{n+1} - z\|^2 \leq \max\{\|x_0 - z\|^2, \|z\|^2\}.$$

Therefore, $\{x_n\}$ is bounded. Since A is α -inverse strongly monotone, it is $\frac{1}{\alpha}$ -Lipschitz continuous. We deduce immediately that $\{Ax_n\}$ is also bounded. Set $u_n = (1 - \alpha_n)x_n - \lambda_n Ax_n$ and $y_n = SJ_{\lambda_n}^B u_n$ for all $n \geq 0$. Noticing that S and $J_{\lambda_n}^B$ are nonexpansive, we can check easily that $\{u_n\}$, $\{J_{\lambda_n}^B u_n\}$ and $\{y_n\}$ are bounded.

We can rewrite (3.12) as $x_{n+1} = \beta_n x_n + (1 - \beta_n)y_n$ for all $n \geq 0$. Next, we estimate $\|x_{n+1} - x_n\|$. In fact, we have

$$\begin{aligned}
 &\|y_{n+1} - y_n\| \\
 &= \left\| SJ_{\lambda_{n+1}}^B \left((1 - \alpha_{n+1})x_{n+1} - \lambda_{n+1}Ax_{n+1} \right) - SJ_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| \\
 &\leq \left\| J_{\lambda_{n+1}}^B \left((1 - \alpha_{n+1})x_{n+1} - \lambda_{n+1}Ax_{n+1} \right) - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| \\
 &\leq \left\| J_{\lambda_{n+1}}^B \left((1 - \alpha_{n+1})x_{n+1} - \lambda_{n+1}Ax_{n+1} \right) - J_{\lambda_{n+1}}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| \\
 &\quad + \left\| J_{\lambda_{n+1}}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| \\
 &\leq \left\| \left((1 - \alpha_{n+1})x_{n+1} - \lambda_{n+1}Ax_{n+1} \right) - \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| \\
 &\quad + \left\| J_{\lambda_{n+1}}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| \\
 &= \left\| (I - \lambda_{n+1}A)x_{n+1} - (I - \lambda_{n+1}A)x_n + (\lambda_n - \lambda_{n+1})Ax_n + \alpha_n x_n - \alpha_{n+1}x_{n+1} \right\| \\
 &\quad + \left\| J_{\lambda_{n+1}}^B u_n - J_{\lambda_n}^B u_n \right\| \\
 &\leq \left\| (I - \lambda_{n+1}A)x_{n+1} - (I - \lambda_{n+1}A)x_n \right\| + |\lambda_{n+1} - \lambda_n| \|Ax_n\| \\
 &\quad + \alpha_n \|x_n\| + \alpha_{n+1} \|x_{n+1}\| + \left\| J_{\lambda_{n+1}}^B u_n - J_{\lambda_n}^B u_n \right\|.
 \end{aligned}$$

Since $I - \lambda_{n+1}A$ is nonexpansive for $\lambda_{n+1} \in (0, 2\alpha)$, we have $\|(I - \lambda_{n+1}A)x_{n+1} - (I - \lambda_{n+1}A)x_n\| \leq \|x_{n+1} - x_n\|$. By the resolvent identity (2.1), we have

$$J_{\lambda_{n+1}}^B u_n = J_{\lambda_n}^B \left(\frac{\lambda_n}{\lambda_{n+1}} u_n + \left(1 - \frac{\lambda_n}{\lambda_{n+1}}\right) J_{\lambda_{n+1}}^B u_n \right).$$

It follows that

$$\begin{aligned}
 \|J_{\lambda_{n+1}}^B u_n - J_{\lambda_n}^B u_n\| &= \left\| J_{\lambda_n}^B \left(\frac{\lambda_n}{\lambda_{n+1}} u_n + \left(1 - \frac{\lambda_n}{\lambda_{n+1}}\right) J_{\lambda_{n+1}}^B u_n \right) - J_{\lambda_n}^B u_n \right\| \\
 &\leq \left\| \left(\frac{\lambda_n}{\lambda_{n+1}} u_n + \left(1 - \frac{\lambda_n}{\lambda_{n+1}}\right) J_{\lambda_{n+1}}^B u_n \right) - u_n \right\| \\
 &\leq \frac{|\lambda_{n+1} - \lambda_n|}{\lambda_{n+1}} \|u_n - J_{\lambda_{n+1}}^B u_n\|.
 \end{aligned}$$

So,

$$\|y_{n+1} - y_n\| \leq \|x_{n+1} - x_n\| + |\lambda_{n+1} - \lambda_n| \|Ax_n\| + \alpha_n \|x_n\| + \alpha_{n+1} \|x_{n+1}\|$$

$$+ \frac{|\lambda_{n+1} - \lambda_n|}{\lambda_{n+1}} \|u_n - J_{\lambda_{n+1}}^B u_n\|.$$

Then,

$$\begin{aligned} \|y_{n+1} - y_n\| - \|x_{n+1} - x_n\| &\leq |\lambda_{n+1} - \lambda_n| \|Ax_n\| + \alpha_n \|x_n\| + \alpha_{n+1} \|x_{n+1}\| \\ &\quad + \frac{|\lambda_{n+1} - \lambda_n|}{\lambda_{n+1}} \|u_n - J_{\lambda_{n+1}}^B u_n\|. \end{aligned}$$

Since $\alpha_n \rightarrow 0$, $\lambda_{n+1} - \lambda_n \rightarrow 0$ and $\liminf_{n \rightarrow \infty} \lambda_n > 0$, we obtain

$$\limsup_{n \rightarrow \infty} (\|y_{n+1} - y_n\| - \|x_{n+1} - x_n\|) \leq 0.$$

From Lemma 2.3, we get

$$\lim_{n \rightarrow \infty} \|y_n - x_n\| = 0.$$

Consequently, we obtain

$$\lim_{n \rightarrow \infty} \|x_{n+1} - x_n\| = \lim_{n \rightarrow \infty} (1 - \beta_n) \|y_n - x_n\| = 0.$$

From (3.15) and (3.16), we have

$$\begin{aligned} &\|x_{n+1} - z\|^2 \\ &\leq \beta_n \|x_n - z\|^2 + (1 - \beta_n) \left\| J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - z \right\|^2 \\ &\leq (1 - \beta_n) \left\{ (1 - \alpha_n) \left(\|x_n - z\|^2 + \frac{\lambda_n}{(1 - \alpha_n)^2} (\lambda_n - 2(1 - \alpha_n)\alpha) \|Ax_n - Az\|^2 \right) \right. \\ &\quad \left. + \alpha_n \|z\|^2 \right\} + \beta_n \|x_n - z\|^2 \\ &= [1 - (1 - \beta_n)\alpha_n] \|x_n - z\|^2 + \frac{(1 - \beta_n)\lambda_n}{(1 - \alpha_n)} (\lambda_n - 2(1 - \alpha_n)\alpha) \|Ax_n - Az\|^2 \\ &\quad + (1 - \beta_n)\alpha_n \|z\|^2 \\ &\leq \|x_n - z\|^2 + \frac{(1 - \beta_n)\lambda_n}{(1 - \alpha_n)} (\lambda_n - 2(1 - \alpha_n)\alpha) \|Ax_n - Az\|^2 + (1 - \beta_n)\alpha_n \|z\|^2. \end{aligned}$$

Then, we obtain

$$\begin{aligned} &\frac{(1 - \beta_n)\lambda_n}{(1 - \alpha_n)} (2(1 - \alpha_n)\alpha - \lambda_n) \|Ax_n - Az\|^2 \\ &\leq \|x_n - z\|^2 - \|x_{n+1} - z\|^2 + (1 - \beta_n)\alpha_n \|z\|^2 \\ &\leq (\|x_n - z\| - \|x_{n+1} - z\|) \|x_{n+1} - x_n\| + (1 - \beta_n)\alpha_n \|z\|^2. \end{aligned}$$

Since $\lim_{n \rightarrow \infty} \alpha_n = 0$, $\lim_{n \rightarrow \infty} \|x_{n+1} - x_n\| = 0$ and $\liminf_{n \rightarrow \infty} \frac{(1 - \beta_n)\lambda_n}{(1 - \alpha_n)} (2(1 - \alpha_n)\alpha - \lambda_n) > 0$, we have

$$(3.17) \quad \lim_{n \rightarrow \infty} \|Ax_n - Az\| = 0.$$

Next, we show $\|x_n - J_{\lambda_n}^B((1 - \alpha_n)x_n - \lambda_n Ax_n)\| \rightarrow 0$. By using the firm nonexpansivity of $J_{\lambda_n}^B$, we have

$$\left\| J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - z \right\|^2$$

$$\begin{aligned}
 &= \left\| J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - J_{\lambda_n}^B \left(z - \lambda_n Az \right) \right\|^2 \\
 &\leq \left\langle (1 - \alpha_n)x_n - \lambda_n Ax_n - (z - \lambda_n Az), J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - z \right\rangle \\
 &= \frac{1}{2} \left(\left\| (1 - \alpha_n)x_n - \lambda_n Ax_n - (z - \lambda_n Az) \right\|^2 + \left\| J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - z \right\|^2 \right. \\
 &\quad \left. - \left\| (1 - \alpha_n)x_n - \lambda_n (Ax_n - \lambda_n Az) - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\|^2 \right).
 \end{aligned}$$

From condition (iii) and the α -inverse strongly monotonicity of A , we know that $I - \lambda_n A / (1 - \alpha_n)$ is nonexpansive. Hence

$$\begin{aligned}
 &\left\| (1 - \alpha_n)x_n - \lambda_n Ax_n - (z - \lambda_n Az) \right\|^2 \\
 &= \left\| (1 - \alpha_n) \left((x_n - \lambda_n Ax_n / (1 - \alpha_n)) - (z - \lambda_n Az / (1 - \alpha_n)) \right) + \alpha_n (-z) \right\|^2 \\
 &\leq (1 - \alpha_n) \left\| (x_n - \lambda_n Ax_n / (1 - \alpha_n)) - (z - \lambda_n Az / (1 - \alpha_n)) \right\|^2 + \alpha_n \|z\|^2 \\
 &\leq (1 - \alpha_n) \|x_n - z\|^2 + \alpha_n \|z\|^2.
 \end{aligned}$$

Thus,

$$\begin{aligned}
 &\left\| J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - z \right\|^2 \\
 &\leq \frac{1}{2} \left((1 - \alpha_n) \|x_n - z\|^2 + \alpha_n \|z\|^2 + \left\| J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - z \right\|^2 \right. \\
 &\quad \left. - \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - \lambda_n (Ax_n - \lambda_n Az) \right\|^2 \right).
 \end{aligned}$$

That is,

$$\begin{aligned}
 &\left\| J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - z \right\|^2 \\
 &\leq (1 - \alpha_n) \|x_n - z\|^2 + \alpha_n \|z\|^2 \\
 &\quad - \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) - \lambda_n (Ax_n - \lambda_n Az) \right\|^2 \\
 &= (1 - \alpha_n) \|x_n - z\|^2 + \alpha_n \|z\|^2 - \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\|^2 \\
 &\quad + 2\lambda_n \left\langle (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right), Ax_n - Az \right\rangle - \lambda_n^2 \|Ax_n - Az\|^2 \\
 &\leq (1 - \alpha_n) \|x_n - z\|^2 + \alpha_n \|z\|^2 - \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\|^2 \\
 &\quad + 2\lambda_n \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| \|Ax_n - Az\|.
 \end{aligned}$$

This together with (3.16) imply that

$$\begin{aligned}
 &\|x_{n+1} - z\|^2 \\
 &\leq \beta_n \|x_n - z\|^2 + (1 - \beta_n)(1 - \alpha_n) \|x_n - z\|^2 + (1 - \beta_n)\alpha_n \|z\|^2 \\
 &\quad - (1 - \beta_n) \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\|^2 \\
 &\quad + 2\lambda_n(1 - \beta_n) \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| \|Ax_n - Az\| \\
 &= [1 - (1 - \beta_n)\alpha_n] \|x_n - z\|^2 + (1 - \beta_n)\alpha_n \|z\|^2
 \end{aligned}$$

$$\begin{aligned}
 & -(1 - \beta_n) \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\|^2 \\
 & + 2\lambda_n(1 - \beta_n) \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| \|Ax_n - Az\|.
 \end{aligned}$$

Hence,

$$\begin{aligned}
 & (1 - \beta_n) \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\|^2 \\
 \leq & \|x_n - z\|^2 - \|x_{n+1} - z\|^2 - (1 - \beta_n)\alpha_n \|x_n - z\|^2 + (1 - \beta_n)\alpha_n \|z\|^2 \\
 & + 2\lambda_n(1 - \beta_n) \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| \|Ax_n - Az\| \\
 \leq & (\|x_n - z\| + \|x_{n+1} - z\|) \|x_{n+1} - x_n\| + (1 - \beta_n)\alpha_n \|z\|^2 \\
 & + 2\lambda_n(1 - \beta_n) \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| \|Ax_n - Az\|.
 \end{aligned}$$

Since $\limsup_{n \rightarrow \infty} \beta_n < 1$, $\|x_{n+1} - x_n\| \rightarrow 0$, $\alpha_n \rightarrow 0$ and $\|Ax_n - Az\| \rightarrow 0$, we deduce

$$\lim_{n \rightarrow \infty} \left\| (1 - \alpha_n)x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| = 0.$$

This implies that

$$(3.18) \quad \lim_{n \rightarrow \infty} \left\| x_n - J_{\lambda_n}^B \left((1 - \alpha_n)x_n - \lambda_n Ax_n \right) \right\| = 0.$$

Put $\tilde{x} = P_{F(S) \cap (A+B)^{-1}0}(0)$ (i.e, \tilde{x} is the minimum norm element in $F(S) \cap (A + B)^{-1}0$). We will finally show that $x_n \rightarrow \tilde{x}$.

Setting $v_n = x_n - \frac{\lambda_n}{1 - \alpha_n}(Ax_n - A\tilde{x})$ for all n . Taking $z = \tilde{x}$ in (3.17) to get $\|Ax_n - A\tilde{x}\| \rightarrow 0$. First, we prove $\limsup_{n \rightarrow \infty} \langle \tilde{x}, v_n - \tilde{x} \rangle \geq 0$. We take a subsequence $\{v_{n_i}\}$ of $\{v_n\}$ such that

$$\limsup_{n \rightarrow \infty} \langle \tilde{x}, v_n - \tilde{x} \rangle = \lim_{i \rightarrow \infty} \langle \tilde{x}, v_{n_i} - \tilde{x} \rangle.$$

It is clear that $\{v_{n_i}\}$ is bounded due to the boundedness of $\{x_n\}$ and $\|Ax_n - A\tilde{x}\| \rightarrow 0$. Then, there exists a subsequence $\{v_{n_{i_j}}\}$ of $\{v_{n_i}\}$ which converges weakly to some point $w \in C$. Hence, $\{x_{n_{i_j}}\}$ and $\{y_{n_{i_j}}\}$ also converge weakly to w because of $\|v_{n_{i_j}} - x_{n_{i_j}}\| \rightarrow 0$ and $\|x_{n_{i_j}} - y_{n_{i_j}}\| \rightarrow 0$. At the same time, from (3.18) and $\|y_{n_{i_j}} - x_{n_{i_j}}\| = \|S J_{\lambda_{n_{i_j}}}^B \left((1 - \alpha_{n_{i_j}})x_{n_{i_j}} - \lambda_{n_{i_j}} Ax_{n_{i_j}} \right) - x_{n_{i_j}}\| \rightarrow 0$, we have

$$(3.19) \quad \lim_{j \rightarrow \infty} \|x_{n_{i_j}} - Sx_{n_{i_j}}\| = 0.$$

By the demi-closedness principle of the nonexpansive mapping (see Lemma 2.2) and (3.19), we deduce $w \in F(S)$. Furthermore, by the similar argument as that of Theorem 3.1, we can show that w is also in $(A + B)^{-1}0$. Hence, we have $w \in F(S) \cap (A + B)^{-1}0$. This implies that

$$\limsup_{n \rightarrow \infty} \langle \tilde{x}, v_n - \tilde{x} \rangle = \lim_{j \rightarrow \infty} \langle \tilde{x}, v_{n_{i_j}} - \tilde{x} \rangle = \langle \tilde{x}, w - \tilde{x} \rangle.$$

Note that $\tilde{x} = P_{F(S) \cap (A+B)^{-1}0}(0)$. Then, $\langle \tilde{x}, w - \tilde{x} \rangle \geq 0, w \in F(S) \cap (A + B)^{-1}0$. Therefore,

$$\limsup_{n \rightarrow \infty} \langle \tilde{x}, v_n - \tilde{x} \rangle \geq 0.$$

From (3.12), we have

$$\begin{aligned}
 & \|x_{n+1} - \tilde{x}\|^2 \\
 \leq & \beta_n \|x_n - \tilde{x}\|^2 + (1 - \beta_n) \|SJ_{\lambda_n}^B u_n - \tilde{x}\|^2 \\
 \leq & \beta_n \|x_n - \tilde{x}\|^2 + (1 - \beta_n) \|J_{\lambda_n}^B u_n - \tilde{x}\|^2 \\
 = & \beta_n \|x_n - \tilde{x}\|^2 + (1 - \beta_n) \|J_{\lambda_n}^B u_n - J_{\lambda_n}^B(\tilde{x} - \lambda_n A\tilde{x})\|^2 \\
 \leq & \beta_n \|x_n - \tilde{x}\|^2 + (1 - \beta_n) \|u_n - (\tilde{x} - \lambda_n A\tilde{x})\|^2 \\
 = & \beta_n \|x_n - \tilde{x}\|^2 + (1 - \beta_n) \|(1 - \alpha_n)x_n - \lambda_n Ax_n - (\tilde{x} - \lambda_n A\tilde{x})\|^2 \\
 = & (1 - \beta_n) \left\| (1 - \alpha_n) \left(x_n - \frac{\lambda_n}{1 - \alpha_n} Ax_n \right) - \left(\tilde{x} - \frac{\lambda_n}{1 - \alpha_n} A\tilde{x} \right) - \alpha_n \tilde{x} \right\|^2 \\
 & + \beta_n \|x_n - \tilde{x}\|^2 \\
 = & (1 - \beta_n) \left((1 - \alpha_n)^2 \left\| x_n - \frac{\lambda_n}{1 - \alpha_n} Ax_n \right\|^2 - 2\alpha_n(1 - \alpha_n) \left\langle \tilde{x}, x_n - \frac{\lambda_n}{1 - \alpha_n} Ax_n \right\rangle + \alpha_n^2 \|\tilde{x}\|^2 \right) \\
 & + \beta_n \|x_n - \tilde{x}\|^2 \\
 \leq & \beta_n \|x_n - \tilde{x}\|^2 + (1 - \beta_n) \left((1 - \alpha_n)^2 \|x_n - \tilde{x}\|^2 - 2\alpha_n(1 - \alpha_n) \left\langle \tilde{x}, x_n - \frac{\lambda_n}{1 - \alpha_n} (Ax_n - A\tilde{x}) - \tilde{x} \right\rangle + \alpha_n^2 \|\tilde{x}\|^2 \right) \\
 \leq & [1 - (1 - \beta_n)\alpha_n] \|x_n - \tilde{x}\|^2 \\
 & + (1 - \beta_n)\alpha_n \left\{ -2(1 - \alpha_n) \langle \tilde{x}, v_n - \tilde{x} \rangle + \alpha_n \|\tilde{x}\|^2 \right\}.
 \end{aligned}$$

It is clear that $\sum_n (1 - \beta_n)\alpha_n = \infty$ and $\limsup_{n \rightarrow \infty} (-2(1 - \alpha_n) \langle \tilde{x}, v_n - \tilde{x} \rangle + \alpha_n \|\tilde{x}\|^2) \leq 0$. We can therefore apply Lemma 2.4 to conclude that $x_n \rightarrow \tilde{x}$. This completes the proof. \square

Remark 3.3. From the listed references, there exist a large number of problems which need to find the minimum norm solution. A useful path to circumvent this problem is to use projection. Bauschke and Browein [2] and Censor and Zenios [7] provide reviews of the field. The main difficult is in computation. The present paper provides some methods which do not use projection for finding the minimum norm solution problem. On the other hand, our suggested algorithms (3.1) and (3.12) are very simple in compared with the algorithm introduced in [28].

Corollary 3.4. *Let C be a closed and convex subset of a real Hilbert space H . Let A be an α -inverse strongly-monotone mapping of C into H and let B be a maximal monotone operator on H , such that the domain of B is included in C . Let $J_\lambda^B = (I + \lambda B)^{-1}$ be the resolvent of B for $\lambda > 0$ such that $(A + B)^{-1}0 \neq \emptyset$. Let λ be a constant satisfying $a \leq \lambda \leq b$ where $[a, b] \subset (0, 2\alpha)$. For $t \in (0, 1 - \frac{\lambda}{2a})$, let $\{x_t\} \subset C$ be a net generated by*

$$x_t = J_\lambda^B \left((1 - t)x_t - \lambda Ax_t \right).$$

Then the net $\{x_t\}$ converges strongly, as $t \rightarrow 0+$, to a point $\tilde{x} = P_{(A+B)^{-1}0}(0)$ which is the minimum norm element in $(A + B)^{-1}0$.

Corollary 3.5. *Let C be a closed and convex subset of a real Hilbert space H . Let A be an α -inverse strongly-monotone mapping of C into H and let B be a maximal monotone operator on H , such that the domain of B is included in C . Let $J_\lambda^B = (I + \lambda B)^{-1}$ be the resolvent of B for $\lambda > 0$ such that $(A + B)^{-1}0 \neq \emptyset$. For given $x_0 \in C$, let $\{x_n\} \subset C$ be a sequence generated by*

$$x_{n+1} = \beta_n x_n + (1 - \beta_n) J_{\lambda_n}^B \left((1 - \alpha_n) x_n - \lambda_n A x_n \right)$$

for all $n \geq 0$, where $\{\lambda_n\} \subset (0, 2\alpha)$, $\{\alpha_n\} \subset (0, 1)$ and $\{\beta_n\} \subset (0, 1)$ satisfy

- (i) $\lim_{n \rightarrow \infty} \alpha_n = 0$ and $\sum_n \alpha_n = \infty$;
- (ii) $0 < \liminf_{n \rightarrow \infty} \beta_n \leq \limsup_{n \rightarrow \infty} \beta_n < 1$;
- (iii) $a(1 - \alpha_n) \leq \lambda_n \leq b(1 - \alpha_n)$ where $[a, b] \subset (0, 2\alpha)$ and $\lim_{n \rightarrow \infty} (\lambda_{n+1} - \lambda_n) = 0$.

Then $\{x_n\}$ converges strongly to a point $\tilde{x} = P_{(A+B)^{-1}0}(0)$ which is the minimum norm element in $(A + B)^{-1}0$.

4. APPLICATIONS

Next, we consider the problem for finding the minimum norm solution of a mathematical model related to equilibrium problems. Let C be a nonempty, closed and convex subset of a Hilbert space and let $G : C \times C \rightarrow R$ be a bifunction satisfying the following conditions:

- (E1) $G(x, x) = 0$ for all $x \in C$;
- (E2) G is monotone, i.e., $G(x, y) + G(y, x) \leq 0$ for all $x, y \in C$;
- (E3) for all $x, y, z \in C$, $\limsup_{t \downarrow 0} G(tz + (1 - t)x, y) \leq G(x, y)$;
- (E4) for all $x \in C$, $G(x, \cdot)$ is convex and lower semicontinuous.

Then, the mathematical model related to equilibrium problems (with respect to C) is to find $\tilde{x} \in C$ such that

$$(4.1) \quad G(\tilde{x}, y) \geq 0$$

for all $y \in C$. The set of such solutions \tilde{x} is denoted by $EP(G)$. The following lemma appears implicitly in Blum and Oettli [4]:

Lemma 4.1. *Let C be a nonempty, closed and convex subset of H and let G be a bifunction of $C \times C$ into R satisfying (E1)-(E4). Let $r > 0$ and $x \in H$. Then, there exists $z \in C$ such that*

$$G(z, y) + \frac{1}{r} \langle y - z, z - x \rangle \geq 0, \forall y \in C.$$

The following lemma was given in Combettes and Hirstoaga [10]:

Lemma 4.2. *Assume that $G : C \times C \rightarrow R$ satisfies (E1)-(E4). For $r > 0$ and $x \in H$, define a mapping $T_r : H \rightarrow C$ as follows:*

$$T_r(x) = \left\{ z \in C : G(z, y) + \frac{1}{r} \langle y - z, z - x \rangle \geq 0, \forall y \in C \right\}$$

for all $x \in H$. Then, the following hold:

- (1) T_r is single-valued;

(2) T_r is a firmly nonexpansive mapping, i.e., for all $x, y \in H$,

$$\|T_r x - T_r y\|^2 \leq \langle T_r x - T_r y, x - y \rangle;$$

(3) $F(T_r) = EP(G)$;

(4) $EP(G)$ is closed and convex.

We call such T_r the resolvent of G for $r > 0$. Using Lemmas 4.1 and 4.2, we have the following lemma. See [1] for a more general result.

Lemma 4.3. *Let H be a Hilbert space and let C be a nonempty, closed and convex subset of H . Let $G : C \times C \rightarrow R$ satisfy (E1)-(E4). Let A_G be a multivalued mapping of H into itself defined by*

$$A_G x = \begin{cases} \{z \in H : G(x, y) \geq \langle y - x, z \rangle, \forall y \in C\}, & x \in C, \\ \emptyset, & x \notin C. \end{cases}$$

Then, $EP(G) = A_G^{-1}(0)$ and A_G is a maximal monotone operator with $dom(A_G) \subset C$. Further, for any $x \in H$ and $r > 0$, the resolvent T_r of G coincides with the resolvent of A_G ; i.e.,

$$T_r x = (I + rA_G)^{-1}x.$$

Form Lemma 4.3, Theorems 3.1 and 3.2, we have the following results.

Theorem 4.4. *Let C be a nonempty, closed and convex subset of a real Hilbert space H . Let G be a bifunction from $C \times C \rightarrow R$ satisfying (E1)-(E4) and let T_r be the resolvent of G for $r > 0$. Let S be a nonexpansive mapping from C into itself, such that $F(S) \cap EP(G) \neq \emptyset$. For $t \in (0, 1)$, let $\{x_t\} \subset C$ be a net generated by*

$$x_t = ST_r((1 - t)x_t), t \in (0, 1).$$

Then the net $\{x_t\}$ converges strongly, as $t \rightarrow 0+$, to a point $\tilde{x} = P_{F(S) \cap EP(G)}(0)$ which is the minimum norm element in $F(S) \cap EP(G)$.

Corollary 4.5. *Let C be a nonempty, closed and convex subset of a real Hilbert space H . Let G be a bifunction from $C \times C \rightarrow R$ satisfying (E1)-(E4) and let T_r be the resolvent of G for $r > 0$. Suppose $EP(G) \neq \emptyset$. For $t \in (0, 1)$, let $\{x_t\} \subset C$ be a net generated by*

$$x_t = T_r((1 - t)x_t), t \in (0, 1).$$

Then the net $\{x_t\}$ converges strongly, as $t \rightarrow 0+$, to a point $\tilde{x} = P_{EP(G)}(0)$ which is the minimum norm element in $EP(G)$.

Theorem 4.6. *Let C be a nonempty, closed and convex subset of a real Hilbert space H . Let G be a bifunction from $C \times C \rightarrow R$ satisfying (E1)-(E4) and let T_λ be the resolvent of G for $\lambda > 0$. Let S be a nonexpansive mapping from C into itself, such that $F(S) \cap EP(G) \neq \emptyset$. For given $x_0 \in C$, let $\{x_n\} \subset C$ be a sequence generated by*

$$x_{n+1} = \beta_n x_n + (1 - \beta_n)ST_{\lambda_n}((1 - \alpha_n)x_n)$$

for all $n \geq 0$, where $\{\lambda_n\} \subset (0, \infty), \{\alpha_n\} \subset (0, 1)$ and $\{\beta_n\} \subset (0, 1)$ satisfy

(i) $\lim_{n \rightarrow \infty} \alpha_n = 0$ and $\sum_n \alpha_n = \infty$;

- (ii) $0 < \liminf_{n \rightarrow \infty} \beta_n \leq \limsup_{n \rightarrow \infty} \beta_n < 1$;
- (iii) $a \leq \lambda_n \leq b$ where $[a, b] \subset (0, \infty)$ and $\lim_{n \rightarrow \infty} (\lambda_{n+1} - \lambda_n) = 0$.

Then $\{x_n\}$ converges strongly to a point $\tilde{x} = P_{F(S) \cap EP(G)}(0)$ which is the minimum norm element in $F(S) \cap EP(G)$.

Corollary 4.7. Let C be a nonempty, closed and convex subset of a real Hilbert space H . Let G be a bifunction from $C \times C \rightarrow R$ satisfying (E1)-(E4) and let T_λ be the resolvent of G for $\lambda > 0$. Suppose $EP(G) \neq \emptyset$. For given $x_0 \in C$, let $\{x_n\} \subset C$ be a sequence generated by

$$x_{n+1} = \beta_n x_n + (1 - \beta_n) T_{\lambda_n} \left((1 - \alpha_n) x_n \right)$$

for all $n \geq 0$, where $\{\lambda_n\} \subset (0, \infty)$, $\{\alpha_n\} \subset (0, 1)$ and $\{\beta_n\} \subset (0, 1)$ satisfy

- (i) $\lim_{n \rightarrow \infty} \alpha_n = 0$ and $\sum_n \alpha_n = \infty$;
- (ii) $0 < \liminf_{n \rightarrow \infty} \beta_n \leq \limsup_{n \rightarrow \infty} \beta_n < 1$;
- (iii) $a \leq \lambda_n \leq b$ where $[a, b] \subset (0, \infty)$ and $\lim_{n \rightarrow \infty} (\lambda_{n+1} - \lambda_n) = 0$.

Then $\{x_n\}$ converges strongly to a point $\tilde{x} = P_{EP(G)}(0)$ which is the minimum norm element in $EP(G)$.

Remark 4.8. Let H be a Hilbert space and let f be a proper lower semicontinuous convex function of H into $(-\infty, +\infty]$. Then, the subdifferential ∂f of f is defined as follows:

$$\partial f(x) = \{z \in H : f(x) + \langle z, y - x \rangle \leq f(y), y \in H\}$$

for all $x \in H$. We know that ∂f is maximal monotone (see [24]). Let C be a closed and convex subset of H and let i_C be the indicator function of C . Then the subdifferential ∂i_C of i_C is a maximal monotone operator because of i_C is a proper lower semicontinuous convex function on H . So, we can define the resolvent $J_\lambda x$ of ∂i_C for $\lambda > 0$, i.e.,

$$J_\lambda x = (I + \lambda \partial i_C)^{-1} x, \forall x \in H.$$

It follows that

$$x \in (I + \lambda \partial i_C) J_\lambda x,$$

which is equivalent to

$$(4.2) \quad x \in (I + \lambda N_C) J_\lambda x,$$

where $N_C x$ is the normal cone to C at x , i.e.,

$$(4.3) \quad N_C x = \{z \in H : \langle z, u - x \rangle \leq 0, \forall u \in C\}.$$

From (4.2), we have

$$\frac{x - J_\lambda x}{\lambda} \in N_C J_\lambda x.$$

This together with (4.3) imply that

$$\frac{1}{\lambda} \langle x - J_\lambda x, u - J_\lambda x \rangle \leq 0, \forall u \in C.$$

Thus, $J_\lambda x = P_C x$. Moreover, we know that if C is a closed half space (i.e., $C = \{z \in H : \langle v, z \rangle \leq \rho\}$), then the metric projection P_C can be expressed by

$$P_C x = \begin{cases} x - \frac{\max\{0, \langle v, x \rangle - \rho\}}{\|v\|^2} v, & (v \neq 0), \\ x, & (v = 0), \end{cases}$$

for all $x \in H$. In this case, we can compute $J_\lambda x$ by

$$J_\lambda x = \begin{cases} x - \frac{\max\{0, \langle v, x \rangle - \rho\}}{\|v\|^2} v, & (v \neq 0), \\ x, & (v = 0). \end{cases}$$

REFERENCES

- [1] K. Aoyama, Y. Kimura, W. Takahashi and M. Toyoda, *On a strongly nonexpansive sequence in Hilbert spaces*, J. Nonlinear Convex Anal. **8** (2007), 471–489.
- [2] H. H. Bauschke and J. M. Borwein, *On projection algorithms for solving convex feasibility problems*, SIAM Review **38** (1996), 367–426.
- [3] H. H. Bauschke, P. L. Combettes and S. G. Kruk, *Extrapolation algorithm for affine-convex feasibility problems*, Numerical Algorithms **41** (2006), 239–274.
- [4] E. Blum and W. Oettli, *From optimization and variational inequalities to equilibrium problems*, Math. Stud. **63** (1994), 123–145.
- [5] Y. Censor, *Computational acceleration of projection algorithms for the linear best approximation problem*, Linear Algebra and Its Applications **416** (2006), 111–123.
- [6] Y. Censor, A. Gibali and S. Reich, *The subgradient extragradient method for solving variational inequalities in Hilbert space*, J. Optim. Theory. Appl. **148** (2011), 318–335.
- [7] Y. Censor and S. A. Zenios, *Parallel Optimization: Theory, Algorithms, and Applications*, Oxford University Press, New York, NY, USA, 1997.
- [8] R. Chen, Y. Su and H. K. Xu, *Regularization and iteration methods for a class of monotone variational inequalities*, Taiwanese J. Math. **13** (2009), 739–752.
- [9] P. L. Combettes, *Inconsistent signal feasibility problems: Least-squares solutions in a product space*, IEEE Transactions on Signal Processing **SP-42** (1994), 2955–2966.
- [10] P. L. Combettes and S. A. Hirstoaga, *Equilibrium programming in Hilbert spaces*, J. Nonlinear Convex Anal. **6** (2005), 117–136.
- [11] G. Crombez, *A sequential iteration algorithm with non-monotoneous behaviour in the method of projections onto convex sets*, Czechoslovak Math. J. **56** (2006), 491–506.
- [12] F. Ding and T. Chen, *Iterative least squares solutions of coupled Sylvester matrix equations*, Systems and Control Letters **54** (2005), 95–107.
- [13] P. Ferreira, *The existence and uniqueness of the minimum norm solution to certain linear and nonlinear problems*, Signal Processing **55** (1996), 137–139.
- [14] K. Geobel and W. A. Kirk, *Topics in Metric Fixed Point Theory*, Cambridge Studies in Advanced Mathematics, vol. 28, Cambridge University Press, 1990.
- [15] A. Kilicman and Z. Zhou, *Vector least-squares solutions for coupled singular matrix equations*, J. Comput. Appl. Math. **206** (2007), 1051–1069.
- [16] K. C. Kiwiel, *The efficiency of subgradient projection methods for convex optimization I: General level methods*, SIAM Journal on Control and Optimization **34** (1996), 660–676.
- [17] K. C. Kiwiel, *The efficiency of subgradient projection methods for convex optimization II: Implementations and extensions*, SIAM Journal on Control and Optimization **34** (1996), 677–697.
- [18] K. C. Kiwiel and B. Lopuch, *Surrogate projection methods for finding fixed points of firmly nonexpansive mappings*, SIAM Journal on Optimization **7** (1997), 1084–1102.
- [19] Z. Li and Y. Wang, *Iterative algorithm for minimal norm least squares solution to general linear matrix equations*, International Journal of Computer Mathematics **87** (2010), 2552–2567.
- [20] Z. Li, Y. Wang, B. Zhou and G. R. Duan, *Least-squares solution with the minimum-norm to general matrix equations via iteration*, Appl. Math. Comput. **215** (2010), 3547–3562.

- [21] X. Liu and Y. Cui, *Common minimal-norm fixed point of a finite family of nonexpansive mappings*, *Nonlinear Anal.* **73** (2010), 76–83.
- [22] M. A. Noor, *Some developments in general variational inequalities*, *Appl. Math. Comput.* **152** (2004), 197–277.
- [23] Y. Y. Qiu, Z. Y. Zhang and J. F. Lu, *Matrix iterative solutions to the least squares problem of $BXA^T = F$ with some linear constraints*, *Appl. Math. Comput.* **185** (2007), 284–300.
- [24] R. T. Rockafellar, *On the maximal monotonicity of subdifferential mappings*, *Pacific J. Math.* **33** (1970), 209–216.
- [25] A. Sabharwal and L. C. Potter, *Convealy constrained linear inverse problems: iterative least-squares and regularization*, *IEEE Transactions on Signal Processing* **46** (1998), 2345–2352.
- [26] M. V. Solodov and B. F. Svaiter, *A new projection method for variational inequality problems*, *SIAM J. Control Optim.* **37** (1999), 765–776.
- [27] T. Suzuki, *Strong convergence theorems for infinite families of nonexpansive mappings in general Banach spaces*, *Fixed Point Theory Appl.* **2005** (2005), 103–123.
- [28] S. Takahashi, W. Takahashi and M. Toyoda, *Strong convergence theorems for maximal monotone operators with nonlinear mappings in Hilbert spaces*, *J. Optim. Theory Appl.* **147** (2010), 27–41.
- [29] W. Takahashi and M. Toyoda, *Weak convergence theorems for nonexpansive mappings and monotone mappings*, *J. Optim. Theory Appl.* **118** (2003), 417–428.
- [30] H. K. Xu, *Iterative Algorithms for Nonlinear Operators*, *J. London Math. Soc.* **2** (2002), 1–17.
- [31] H. K. Xu, *A variable Krasnoselskii-Mann algorithm and the multiple-set split feasibility problem*, *Inverse Problems* **22** (2006), 2021–2034.
- [32] H. K. Xu, *Iterative methods for the split feasibility problem in infinite-dimensional Hilbert spaces*, *Inverse Problems* **26** (2010), 105018 (17pp).
- [33] I. Yamada, *Hybrid steepest descent method for variational inequality problem over the fixed point set of certain quasi-nonexpansive mappings*, *Numer. Funct. Anal. Optim.* **25** (2004), 619–655.
- [34] Y. Yao, R. Chen and H. K. Xu, *Schemes for finding minimum-norm solutions of variational inequalities*, *Nonlinear Anal.* **72** (2010), 3447–3456.
- [35] Y. Yao and Y. C. Liou, *Composite algorithms for minimization over the solutions of equilibrium problems and fixed point problems*, *Abstract and Applied Analysis* **2010** (2010), Article ID 763506, 19 pages, doi:10.1155/2010/763506.
- [36] Y. Yao, Y. C. Liou and M. M. Wong, *Algorithms for equilibrium problems and fixed point problems approach to minimization problems*, *Taiwanese J. Math.* **14** (2010), 2073–2089.
- [37] Y. Yao and H. K. Xu, *Iterative methods for finding minimum-norm fixed points of nonexpansive mappings with applications*, *Optimization* **60** (2011), 645–658.

Manuscript received March 16, 2011

revised April 21, 2015

YONGHONG YAO

Department of Mathematics, Tianjin Polytechnic University, Tianjin 300387, China

E-mail address: yaoyonghong@aliyun.com

YEONG-CHENG LIOU

Department of Information Management, Cheng Shiu University, Kaohsiung 833, Taiwan, Center for General Education, Kaohsiung Medical University, Kaohsiung 807, Taiwan

E-mail address: simplex.liou@hotmail.com

JEN-CHIH YAO

Center for General Education, China Medical University, Taichung 40402, Taiwan; and Department of Mathematics, King Abdulaziz University, P.O. Box 80203, Jeddah 21589, Saudi Arabia

E-mail address: yaojc@mail.cmu.edu.tw